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Question Number : 1 Question Id : 36496353593 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Child Development is a study of the patterns of growth and change taking place from ............... to

Options :

1. birth; middle childhood

2. birth; adolescence

3. conception; middle childhood

4. conception; adolescence

Question Number : 1 Question Id : 36496353593 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 36496353594 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Progress and paths of development of children cannot be predicted accurately.

Reason (R): Unique combinations of genetic and environmental factors can result in different
paths of change.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is not correct explanation of (A)
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 2 Question Id : 36496353594 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 36496353595 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Socialization is a

Options :

1. simple process of passing on customs and ritual of the society.

2. complex process that takes places in overt as well as covert manner.
3. linear process that happens in an orderly manner

4. formal process that is planned by the family only.

Question Number : 3 Question Id : 36496353595 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 36496353596 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



For children who are in formal operational stage teachers should -

(i) Use diagrams to depict hierarchical relationships
(ii) Present problems that require hypothetical thinking
(iii) Avoid presenting abstract problems

(iv) Give opportunities to solve problems and reason scientifically
Options:

1. (i) (iii) (iv)

2. (i) (iii) (iv)

3. (i) (ii) (iii)

4. (i) (ii) (iv)

Question Number : 4 Question Id : 36496353596 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 36496353597 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Jean Piaget's theory of cognitive development, the two complementary process of

accommodation and assimilation are a part of -
Options :

1. Adaptation

2. Zone of proximal Development

3. concept maps

4. Advance Organizer

Question Number : 5 Question Id : 36496353597 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 36496353598 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While Jean Piaget gives importance to .................. in children's learning, Lev Vygotsky considers



.................... to be important?
Options:

1. maturation; cultural tools

2. reinforcement; change in schemas
3. drill and practice; reinforcement

4. stimulus-response associations; organization

Question Number : 6 Question Id : 36496353598 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 36496353599 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky which of the following is NOT an appropriate pedagogy to promote

cognitive development?
Options :
1. Guided exchanges

2. Comprehensive discussions



3. Collaborative learning

4. Reproduction and recall

Question Number : 7 Question Id

Question Mandatory : No

: 36496353599 Question Type : MCQ Option Shuffling : Yes Is

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id

Question Mandatory : No

: 36496353600 Question Type : MCQ Option Shuffling : Yes Is

Correct Marks : 1 Wrong Marks : 0

Carol Gilligan critiqued that Lawrence Kohlberg's theory of moral development devalues feminine

morality that emphasizes -
Options :

1. An ethic of care

2. Moral ideals

3. An ethic of justice

4. Concerns for the societal good

Question Number : 8 Question Id

: 36496353600 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 36496353601 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Howard Gardner -

Options :

1. Proposed the theory of multiple intelligences

2. Proposed that cognitive ability is the singular trait in determining intelligence
3. Gave the concept of measuring intelligence as intelligence quotient

4. Gave elaborate description of 16 types of intelligences as per 4 factors

Question Number : 9 Question Id : 36496353601 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Options :
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Question Number : 10 Question Id : 36496353602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to national education policy 2020, the emphasis of education should be on -
Options:

1. Conceptual understanding

2. Decontextualized content

3. Rote learning

4. Learning - for exams

Question Number : 10 Question Id : 36496353602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 36496353603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a child-centered education, learning takes place primarily -
Options :

1. Through direct instruction by the teachers

2. From the textbooks

3. By passive listening of the learners

4. By exploration from diverse sources

Question Number : 11 Question Id : 36496353603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 36496353604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Assertion (A): children begin to get cues on how to behave in 'gender appropriate’ ways from the

stage of infancy only.

Reason (R) : Isolation and deprivation of social experiences in childhood can cause irreparable

damage to children.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).
2. Both (A) and (R) are true but (R) is not correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 12 Question Id : 36496353604 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 36496353605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teachers should detail the assessment of the child to the parents so that -

Options :

1. The parents can correctly identify the label given to the child-slow,intelligent etc.

2. The parents can gain an understanding into what and how the child has been learning.
3. The parents can know what all their child cannot do.

4. The parents can compare their child to other children in the class.

Question Number : 13 Question Id : 36496353605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 36496353606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
To ensure retention of students form socio-economically disadvantaged groups, a teacher should

Options :



1. ensure that they take tuitions at home
2. ensure that they are given a lot of recall based worksheets
3. ensure that they do not lose interest in attending school

4. ensure that standard decontextualized curriculum is followed

Question Number : 14 Question Id : 36496353606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 36496353607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identifying the question that tests the skill of evaluation.

Options :

1. In what ways are the books you read today different from the Rigveda?
2. Define- 'archaeology’

3. What metals did people in Harappan civilization use to make tools?

4. When was the site of Harappan civilization discovered?



Question Number : 15 Question Id : 36496353607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 36496353608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to promote and facilitate education, which of the following set of measures have been

proposed under Right of persons with disabilities Act (2016)?

(i) conduct survey of school going children in every five years

(ii) ensure uniform and standardised curriculum system for all

(iii) provide books, other learning materials and appropriate assistive devices

(iv) use of appropriate augmentative and alternative modes of communication
Options :

1. (i), (ii), (iii)

2. (i), (i), (iv)



3. (i), (iii), (iv)
4. (ii), (iii), (iv)

Question Number : 16 Question Id : 36496353608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T V4T % T S AT T, (Aot SeRe, AT (2016) % SfATe {70 3§ 31 1
|, oo T T e 1 2 T 9 e |
i, 7l o o e e AR TR A T O gﬁﬁﬁ 1

il r, 97 ST IR S e ereeh v 99 |

. T R o e v

Options :

1 (D),(i0) (i)

. (D.(iD)(iv)

o (D)(iif).(iv)

4. ()(11)(1v)

Question Number : 17 Question Id : 36496353609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For the inclusion of students from religious minorities, a teacher should:
Options:

1. Emphasize more on the differences than sameness across religions.

2. Present the examples of harmony among members of different religions.

3. Promote the biases about beliefs, and practices in particular religions.



4. Strengthen the stereotypes related to particular religions.

Question Number : 17 Question Id : 36496353609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 36496353610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Dysgraphia is primarily associated with difficulty in:
Options :

1. Reading

2. Thinking

3. Walking

4. Writing

Question Number : 18 Question Id : 36496353610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 36496353611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following practice will be helpful will be helpful in ensuring successful inclusion of

students with visual impairment?

Options:

1. Books with small print and pictures

2. Use of sign language by teacher and peers
3. Use of Tactile and embossed materials

4. Written instructions on the board

Question Number : 19 Question Id : 36496353611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 36496353612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to cater to the needs of students with high creativity, a teacher should avoid activities

which promotes:
Options :

1. Convergent thinking
2. Curiosity to learn

3. Originality of ideas

4. Problem solving skills

Question Number : 20 Question Id : 36496353612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 36496353613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to support deep, long-lasting knowledge among learners, a teacher should:
Options :

1. prevent elaborating and discussing the recently learnt concepts

2. give the opportunities to apply the learning to different situations

3. focus on memorisation of content over its understanding

4. present information and instructions only in verbal form

Question Number : 21 Question Id : 36496353613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 36496353614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Assertion (A): A teacher should encourage her students to make intuitive guesses about answer to

a question.

Reason (R): Students should be instructed to answer only when they are absolutely sure of the

correct answer.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 22 Question Id : 36496353614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 36496353615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should plan activities which yield among learners.
Options :

1. anxiety

2. boredom

3. curiosity

4. demotivation

Question Number : 23 Question Id : 36496353615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 36496353616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Knowledge about how to do particular task is called
Options :

1. assimilative knowledge



2. conditional knowledge
3. declarative knowledge

4. procedural knowledge

Question Number : 24 Question Id : 36496353616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 36496353617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following doesn’t promote meaningful learning among the students?
Options :

1. Exploration

2. Interaction

3. Meta-cognition

4. Passive observation

Question Number : 25 Question Id : 36496353617 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 36496353618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Implicit and explicit knowledge of our own abilities and the strategies which we can use in given

situation, depending on the demands of the task in front of us is called knowledge.
Options :

1. declarative

2. episodic

3. meta-cognition

4. procedural

Question Number : 26 Question Id : 36496353618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 36496353619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While solving a problem, a student is referring to the similar kind of problems and drawing

indications to solve the current problems. This is an example of

Options :

1. analogical thinking
2. functional fixedness
3. response set

4. working-backward strategy

Question Number : 27 Question Id : 36496353619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 36496353620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During discussion on a scientific concept, a teacher found that a few students have certain

misconceptions related to that concept. What should the teacher do in such a scenario?

Options :

1. Let students talk about the misconceptions and provide opportunities for discovering scientific
logic.

2. Outrightly reject those misconceptions and tell them the standard information on that concept.
3. Refer these children to a special educator and recommend assessment for a learning disability.

4. Teacher should not respond on those misconceptions and move ahead towards next concept.

Question Number : 28 Question Id : 36496353620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

R ST S T i 3 O 3 et o s & o 3 e T
Feae = frfern 1t 7 e ey

Options:

| Tt =it ifea % 9T 5 91 F § S IS 7o 1 @IS o STae T

5 =T AT 31 T | @S 30 377 398 36 9o U 0T STHFNT 5470

5 T S U TS TETe o6 UTeF W31 < S STTeTTH SRl  eT0, AT o1 [eohIieet )



., T Bt T O T T S e AT ST Fee o S S 4 S e

Question Number : 29 Question Id : 36496353621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement about emotion and cognition is correct?
Options:

1. Attention span remains unaltered by any kind of emotions

2. Emotions and logical thinking are independent of each other

3. Emotions facilitate the encoding and retrieval of memories

4. Memory is not associated with positive or negative emotions

Question Number : 29 Question Id : 36496353621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 36496353622 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following belief is likely to keep a student motivated for future attempts?
Options :

1.Tam not intelligent and effort won't make any difference to my ability.

2.1 am capable of doing given task if I put required effort in my attempts.

3.Iam an unlucky person and my luck never favours my success at given task.

4.1 lack the ability to do well in science and it is beyond my control to change it.

Question Number : 30 Question Id : 36496353622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Clear Response: Yes
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Question Number : 31 Question Id : 36496353623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

. i 3 i
A rational number lving bem-'een—g and S s

Options:
24
1. 25

22
2. 25

Ll oo

Question Number : 31 Question Id : 36496353623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5 ? ~ ¢ L} z =
~Z o 7 F &= T U T 9T E —



Options :
24
1. 25

22
2. 25

S NS

Question Number : 32 Question Id : 36496353624 Question Type

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct?
g . 7 .
A Ifa“endsin9.thena’ endsin 7

B. v09 =03

C. The square if a prime number can be an even number
i i - . =
D. If a? ends in 5, then a° ends in 25

Options :
1. A

: MCQ Option Shuffling : Yes



Question Number : 32 Question Id : 36496353624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
freferfEe 3 & s o w2 20
(A) T2 a” 37 O W EHTH a1 2, T a° 3 7 W FHIN BT 2
(B) V0.9 =0.3 T
(C) e THTST ST 1 I Ua T T B G 2
(D) Ff% a” 37 5 T TN 2141 8, A a° AT 25 T HATH &1 2|
Options :

(A

Question Number : 33 Question Id : 36496353625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The value of [( 27 1x571) g1 I= {4_1 + 8_1] 1 s
Options :

1. 24



Question Number : 33 Question Id : 36496353625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[(21x5Y) =81 =[41+8 ! HAFT:
Options:

1. 24

2. 30

3. 40

Question Number : 34 Question Id : 36496353626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

VBTS5 a
If —— =-—. then
40408 b

which of the following can be a value of (a + b)?
Options :
1. 71

]

L



Question Number : 34 Question Id : 36496353626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

V675
afg
V9405
Options :
1. 71

a 2! . -
= E %, A= wf‘i#-‘@l?{a—b]ﬁm-# E‘:Tﬂq-:dr%‘?

Question Number : 35 Question Id : 36496353627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If 106480 =a* x b x ¢,
where a, b and ¢ are prime numbers, then what is the value of (3a +2b —¢)?

Options :
1.3

w
LN

Question Number : 35 Question Id : 36496353627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
T 106430 =a" X bXx 32 Tl a, b3 c AT HEA 2, A (30 +2b - o) FAH ML)

Options :
1.3

Question Number : 36 Question Id : 36496353628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If 9x% + 1153;2 = ? and xy =—

then one of the values of (3x + 4y) is

B |

Options :
5

1. 2

ool

Question Number : 36 Question Id : 36496353628 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

it . 3 8 1 5.5 -
‘Jﬁ'Q.rHﬁ}-":? T ay= —2 A (Br+4y) FUMTTTHFARE:

Options :
5

1. 2

| W

ol o,

Question Number : 37 Question Id : 36496353629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One f&CtDi’ common to
x2 —3x—40, x2+ 13x + 40

5[ .
and X~ +x— 20 is

Options :
1, =4
2. X—4
3, X—=3



Question Number : 37 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 36496353629 Question Type : MCQ Option Shuffling : Yes

22 = 3x — 40,7 + 13x + 40 FGT ¥ + x — 20 & TF T TG B —

Options :
1. Xx—4
2 XT 4
3. X — 5
4, X T &

Question Number : 38 Question Id

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 36496353630 Question Type : MCQ Option Shuffling : Yes

The numerical coefficient of x in the product of the expressions

(x—5)and (y +7) is

Options :

Question Number : 38 Question Id

: 36496353630 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

SR (x — 5) W (y + 7) 3 TOFES H x T T N © -
Options :

1. =3

2.9

3, =

4.7

Question Number : 39 Question Id : 36496353631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The market price of an article is T 625. A shopkeeper sells it by allowing 10% discount on its marked price.
If he gains 25% profit, then the cost price of the article is

Options :
1. T350

Question Number : 39 Question Id : 36496353631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Fr e a1 1 T 2615 31 % T ] 3 i A 1% g 4 21 % e 2%
T B 2, 71 96 ] AT E —

Options:
1. T350
5 2375

3. 2400

4. 3450

Question Number : 40 Question Id : 36496353632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The value of v which satisfies the equation

also satisfies which of the following equations?
Options :

1. 2yt I=l=-y

5 2y—3=y-1

e

Question Number : 40 Question Id : 36496353632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
3—5y

y T I T4, S FHE = (y+1)—(2y +9),
el HE Al =, = 9 o T wefieo = off S A 22

Options :

1 y+E3=1=y

5 2y—3=y-1
3 3y+4=y—4
4 A=y

Question Number : 41 Question Id : 36496353633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In quadrilateral ABCD,
AB =AD and DC =BC.
Which of the following is true for the quadrilateral ABCD?

Options :
1. Diagonals bisect each other.
» Diagonals bisect each other at right angles.

3 Diagonals are perpendicular to each other.

4. Diagonals are perpendicular to each other and are equal.

Question Number : 41 Question Id : 36496353633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
=74 ABCD  AB = AD 4t DC = BC & =7 ABCD ¥ fo, ifeign & & 9.1 e 979 27

Options :

| ool v s fgTfore e 2

TRl U AR OT SIS e 2
2.
3, Terehol R e |

4. Toreul e = ¥ IR e E

Question Number : 42 Question Id : 36496353634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Out of a pair of complementary angles, one is two-third of the other. What is the supplement of the smaller angle?
Options :
1. 126°

Question Number : 42 Question Id : 36496353634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T SV 3 T 7 5 e S0 G IO 6 31T 31 T 0T o W 2



Options :
1 126°

5 135°

3 144°

=]

Question Number : 43 Question Id : 36496353635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following letters have rotational symmetry but no linear symmetry?
Options :
1. M

Question Number : 43 Question Id : 36496353635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

freatertaa = & fore e1am = Toi7 Tfuia 2, g thas st 981 27

Options :
1. M



Question Number : 44 Question Id : 36496353636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ABC is a triangle in which £C =70°, if Pis a point on side BC such that AP = AC and ZBAP = 30°, then £B is
equal to

Options :
1. 70°

2. 60 °

Question Number : 44 Question Id : 36496353636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ABC T s, R £C = 70° 270 41 BC WP % Fog 30 T 87 AP = AC 27T ZBAP= 302,
1 LB TR E—

Options :

1. 70

Q

a



Question Number : 45 Question Id : 36496353637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ABC and DEF are two triangles such that AB = Sem, BC = 6em, AC = 4cm, DE = 6em, EF = 4em and DF = Seni,
Then, which of the following is true?

Options :
1. AABC = AEDF

> AABC = A DEF
3 AABC = A DFE

4. AABC = A FDE

Question Number : 45 Question Id : 36496353637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ABC &t DEF 31 ¥ 58 T £ 7 AB = 5 om, BC = 6 om, AC =4 cm, DE =6 cm, EF =4 cm 3 DF = §
e 2| 78, Ffees 0 9 9 )

Options :
1. A ABC=Z A EDF

> A ABC= A DEF



3 A ABCZ A DFE

4 A ABC = A FDE

Question Number : 46 Question Id : 36496353638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The base and the corresponding altitude of triangle are in the ratio 5 : 3. If its area is 120cm?, then the altitude is
Options :

1. 9cm
2. 12cm
3. 15cm

4. 21 cm

Question Number : 46 Question Id : 36496353638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

%&ﬁ%ﬂﬁfw%ﬁmﬁwmi ; S%Waélﬂﬁmm 120 cm” 2, A FE a2
Options:

1. 9cm
2 12 cm
3 15 cm

4. 21 cm



Question Number : 47 Question Id : 36496353639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The area of a trapezium is 2275 em?, and the distance between its parallel sides is 35 cm. if the parallel sides of
trapezium are in the ratio 5 : 8, then the longer side among the parallel sides is

Options:
1. 64 cm

2. 72 cm
3. 80 cm

4, S8cm

Question Number : 47 Question Id : 36496353639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

et} et T e 2275 cnféme.w"rmgmﬁ%aﬁaﬁqﬁ.%s cm%la'%ﬁrmﬂﬁfﬁi 3%
TR , AR S 7§ A A s €

Options :
1. 64 cm
2 72 cm

3. 80 cm

4. 88 cm



Question Number : 48 Question Id : 36496353640 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The capacity of a cylindrical tank is @ . Ifits depth is 3.2m, then what is the perimeter of its base? (Take 1= 2; )

Options :
1. 30m

— m

— m

Question Number : 48 Question Id : 36496353640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

| + [ 1760 = - £ A \ 5
T} SeTTeRT. 226 mﬁﬁTT m’ 3| T T TEE 3.2 mE, I HTHR T TR 1 22

ﬂ:geﬂﬁlq)

Options:
1. 30 m



220
= o I

Question Number : 49 Question Id : 36496353641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A box contains balls bearing numbers 33, 34, 35,36 ............, 58, 59, one number on one ball. A ball is drawn at
random from the box. What is the probability that the number on the ball drawn is a prime number?

Options:

| =

| =

Question Number : 49 Question Id : 36496353641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T R T T 8 33, 34,35, 36,37, .58, 50 A o 75 # (7 e 8 s | S A R
R T T g 0 el T ) 0 e 2 o o T e O o v e fe 2

Options :



| =
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Question Number : 50 Question Id : 36496353642 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If X, y and z are the median, mode and range, respectively of the data:
TS0, 2,520 16,23 2993,
then what is the value of (4x + v —2z)?

Options :
1. 47

4, 60

Question Number : 50 Question Id : 36496353642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ty, y A 2 T A 7,5, 11,2, 3, 20, 16, 23, 29, 23 5 H1, g S W &, 7 (4 +y -2) A
TRHD

Options :

1. 47
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Question Number : 51 Question Id : 36496353643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to National Curricnlum Framework 2005, the place of mathematics education in the curricular framework is
positional on twin concerns, These are:

Options:

What mathematics education can do to engage the mind of every student and how it can strengthen the student’s
1. lesources

What mathematics education can do to improve communication skills of every child and how it can make them
5 employable

3, What mathematics education can do to control the dropout rate of children and how it can improve their scores

What mathematics education can do to prepare students for olympiads and how it can help to choose right subject
4 Stream in higher classes.

Question Number : 51 Question Id : 36496353643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TG e B 2003 % T, Tl 1 ECat % 0 (7T o R g SO O AT 2] 3

Options :

1.
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Question Number : 52 Question Id : 36496353644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following measures of central tendency is affected by the extremely large and extremely small values in
the data?

Options:
1. Mean
2. Harmonic Mean

3. Median

4. Mode

Question Number : 52 Question Id : 36496353644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TG & ¥ 1 T 21 HIA-61 910, &g § Afae vg af&mgmﬁﬁ%ﬁ&n AT



Options :
1. HTET

, TR AT

Question Number : 53 Question Id : 36496353645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following questions;

A): Five wheel rotations on a bike takes you 12 yards. How many wheel rotations will be required to go 60 yards?

B): Ina college, 5 out of every 8 seniors live in apartments. Out of 30 seniors how many are likely to Live in apartment?
C): John and Lisa were walking at the same speed. Lisa started first. When Lisa has walked 6 blocks, john has walked 2
blocks. How many blocks would John cover when Lisa has covered 12 blocks.

Choose the correct option.

Options :
1. Question (A) requires proportional thinking while (B) is an example of a question on probability.
- Both questions (A) and (B) are an example of questions based on proportional thinking.

3. Both questions (A) and (C) are an example of questions based on proportional thinking.

4. Only question (C) is an example of question based on proportional thinking.

Question Number : 53 Question Id : 36496353645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 54 Question Id : 36496353646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A middle school mathematics teacher has completed the topic on ‘types of quadrilaterals and their properties’. While
summarizing the key points, one of her students responded, ‘A square is both a rhombus and a rectangle’, The student is
at which stage of geometric reasoning as per Van Hiele's theory of geometrical development?

Options :
1. Level 2 (Relationships)
5 Level 0 (Recognition)

3. Level 1 (Analysis)

4 Level 3 (Deduction)



Question Number : 54 Question Id : 36496353646 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e TS e o IO TRTTedeht T o TR 74T 3 T ST farw O fer
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Options:
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Question Number : 55 Question Id : 36496353647 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Sushma is introducing the concept of “squares” (square numbers). She has planned three learning activities:

I Give students 5 square tiles and ask if a square can be formed
II.  Write square numbers on the blackboard and encouraging students to relate it to the other concepts that they
have learnt before
I Visually represent square numbers using squares of various dimensions

Help her order these activities in the BEST sequence to build the concept well.

Options :
1. LILIII



5 ILILII
3 LILII

4 IOLILI

Question Number : 55 Question Id : 36496353647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T (e e T T T AT T 8] R A SR T 6 2
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Options :

1 L, II, 111

, 1L 1,111

5

g ULILI

Question Number : 56 Question Id : 36496353648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is the LEAST effective way of developing algebraic thinking among learners?

Options :



1. Exploring numerical situations, rather than just computing
> Encouraging students to make their own generalisations
3. Solving linear equations in one variable and two variables

Asking the students to decide whether the following conjecture, “If we multiply any whole number by 2, the answer
4, Will be an even number” is true or false?

Question Number : 56 Question Id : 36496353648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frefafes o 8 F9-91 om 3 S = =t s #0 # Rl THTET AT 27

Options :
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Question Number : 57 Question Id : 36496353649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A middle school mathematics teacher poses the following situations to her students:
(a) I doubt that it will rain today.
(b) There is a 50-50 chance of India winning the toss in today’s match.
(c) Chances are high that the prices of petrol will go down.

This type of discussion will be helpful to:

Options :

1 Introduce the concept of estimation.
o Introduce the concept of probability.
3 Introduce the concept of Data handling.

4 Enhance creative thinking in students.

Question Number : 57 Question Id : 36496353649 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e e e oA TR < ST S0 DT 3 TR ferEs gt T 8
a) @qu%% AT ST B
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Options :
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Question Number : 58 Question Id : 36496353650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To find the value of exponential number operation like a® X a¥ etc, the teacher first writes all the formulag on the black
board and then instructs the students to solve many examples based on the formulae. This is an example of

Options :

1. Inductive method of teaching
5 Deductive method of teaching
3. Scientific method of teaching

4. Child centered method of teaching

Question Number : 58 Question Id : 36496353650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ATTHAT fate
, TR At
5, AT Tate

4. BT i fafer



Question Number : 59 Question Id : 36496353651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Sarita brought a dart board having concentric circles, along with darts/arrows, to her class. Which of the following
is LEAST suited to be taught using this?

Options :
1 Bar graph

5 Percentages
3. Similarity of shapes

4, Probability

Question Number : 59 Question Id : 36496353651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 60 Question Id : 36496353652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In Mathematics Geogebra is:

Options :
1. An interactive software for teaching geometry, algebra, statistics and calculus
5 software for geo-board related activities

3, Asoftware that helps to arrange large amount of data in spreadsheets and is used extensively by researchers

4. Itisastatic software used by teachers for demonstrating various formal proofs in geometry and algebra.

Question Number : 60 Question Id : 36496353652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 36496353653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a pair of Rabi crops?

Options :
1 Wheat, Mustard

5 Mustard. Paddy

3. Paddy. Peas

4. Peas. Maize

Question Number : 61 Question Id : 36496353653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
freAferiaa = & H1-91 Tl Hae %1 79 2

Options :

1

, O, T

5 9, 7

"L, Hh1

Question Number : 62 Question Id : 36496353654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Read the statements and choose the correct option
Assertion (A): Taking boiled drinking water is an effective preventive measure against Hepatitis A
Reasoning (R): Hepatitis A is a bacterial disease which is primarily transmitted through water.

Options :
1 Both (A) and (R) are true and (R) is the correct explanation of (A).

2 Both (A) and (R) are true but (R) is not the correct explanation of (A).

3. Als true but R is false

4. R is true but A is false

Question Number : 62 Question Id : 36496353654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 36496353655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An element ‘X’ reacts with oxygen to produce an oxide whose solution turns blue litmws red. Which of the following
could be X?

Options :

1. Sodium

5 Sulphur

3. Helium

4. Copper

Question Number : 63 Question Id : 36496353655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 36496353656 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Under which of the following conditions will the speed of sound in air be maximum?
Options :
1 Indryairat0®C

> Inmoistairat 0°C

3 Indryairat40°C

4. In moist air at 40° C

Question Number : 64 Question Id : 36496353656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 36496353657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following groups ALWAYS forms a virtual image of an object?

Options :

1 Convex lens, Convex mirror, Plane mirror
2 Convex mitror, Concave lens. Plane mirror
3 Concave mirror, Convex lens. Concave lens

4 Convex mirror, Concave mirror. Plane mirror

Question Number : 65 Question Id : 36496353657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 36496353658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of a book lying at rest on a table?



Options :

1. Static friction is the only force acting on it
» Gravitational force is the only force acting on it.
3. No force is acting on it.

4. A pair of balanced forces is acting on it.

Question Number : 66 Question Id : 36496353658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 36496353659 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is purest form of carbon?

Options :



1. Coke
2. Coal tar
3 Coal gas

4. Charcoal

Question Number : 67 Question Id : 36496353659 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 36496353660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is a group of single-celled organisms?
Options :

1. Yeast, hydra, amoeba.



2 Sea anemone, paramecium, bacteria.
3 Yeast, amoeba, bacteria.

4. Hydra, sea anemone, paramecium.

Question Number : 68 Question Id : 36496353660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 36496353661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A family travelled from Delhi to Jaipur by car. The odometer of their car read 4157km at the start of the trip and
4436km at the end of the trip. If it took them 5 hours 10 minutes to complete this journey, what was the average speed?

Options:
1. 48 km'h

2. 52 km'/h



3. 54 km/h

4. 60 km'h

Question Number : 69 Question Id : 36496353661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 48 km/h

> 52 km/h
3. 54 km/h

4. 60 km/h

Question Number : 70 Question Id : 36496353662 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following phenomena can be attributed to rotation of earth?
A. Deviation of wind direction from exact north-south direction
B. Formation of day and night
C. Formation of seasons
D. Formation of eclipses

Options :
1. Aand B



2. Band D
3. Aand C

4, CandD

Question Number : 70 Question Id : 36496353662 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 36496353663 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A flower appears red in sunlight. Which colour would it appear in green light?
Options :

1. Red



2. Black
3. Green

4. Yellow

Question Number : 71 Question Id : 36496353663 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. T

Question Number : 72 Question Id : 36496353664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What would happen respectively to the boiling and freezing points of water if salt is added to it?
Options :

1. Both will increase

- Boiling point will increase but the freezing point will decrease

3 Freezing point will increase but the boiling point will decrease



4. Both will decrease

Question Number : 72 Question Id : 36496353664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 36496353665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following organs is NOT found in birds?
Options:
1. Urinary - bladder

2. Intestine

3. Liver



Kidney

Question Number : 73 Question Id : 36496353665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 74 Question Id : 36496353666 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Most plants obtain nitrogen from soil in the following form
Options :

1 Free nitrogen

2. Nitric acid

3. Ammonia

4. Nitrates



Question Number : 74 Question Id : 36496353666 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 36496353667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

You are in a room whose geographical directions are not known to you. You are provided with 10 bar magnets. One pole
of one of the magnets has been labelled for you. What is the mininum number of the labelled poles that you now
require in order to be able to identify both the poles of all 10 magnets?

Options:
1. None
2. One

3. Two

4. Three



Question Number : 75 Question Id : 36496353667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 36496353668 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Match the name of the acid given in column I with the corresponding food items in which they are found given in
column I

| II
a) Acetic acid i) Spinach
b) Lactic acid 1)  Lemons
¢) Oxalic acid i) Curd
d) Citric acid iv)  Vinegar

Options :
1. (@)= (iid); (b) = (1): (¢) = (iv): (d) — (ii)
2. (a) — (ii); (b) — (iii); (c) — (iv): (d) — (i)

3 (@) — (iv); (b) —(1): (e) — (11i); (d) — (i1)



4. (a) — (iv); (b) — (1ii): () — (1); (d) — (iL)

Question Number : 76 Question Id : 36496353668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. @i, b-i, c-1v, d-ii

5 a-i, b-1ii, c-1v, d-i

3 a-1v, b-1, ¢-1ii, d-1i

4 &1V, b-ii1, ¢c-1, d-11

Question Number : 77 Question Id : 36496353669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following substances is NOT used as a fertilizer?
Options :

1. Ammonium Sulphate

2. Potassium Nitrate



3. Calcium Superphosphate

4. Calcium Carbonate

Question Number : 77 Question Id : 36496353669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 36496353670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following states of India is most likely to be hit by a cyclone?

Options :

1 Haryana

> Madhya Pradesh

3. Andhra Pradesh



4. Uttarakhand

Question Number : 78 Question Id : 36496353670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 79 Question Id : 36496353671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of organisms reproduce by budding?

Options:
Hydra, Amoeba

1.
2 Amoeba, Paramecium

Yeast, Hydra

4 Paramecium, Yeast



Question Number : 79 Question Id : 36496353671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 36496353672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following metals can displace the rest from their salt solutions?
Options :

1 Copper

2. Iron

3. Silver

4. Zinc

Question Number : 80 Question Id : 36496353672 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 36496353673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Priya wants to show students the relationship between vibrations and sound. Which of the following activities is
MOST aligned with this lesson objective?

Options :
1. Tapping a table and hearing the sound
5 Plucking an elastic band and seeing the vibrations.

3. Throwing a pebble in water and observing it

4. Feeling the vibrations in your throat while speaking.

Question Number : 81 Question Id : 36496353673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 36496353674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Your students have just entered grade 8. If students have largely mastered the concepts taught till grade 7 as per
NCERT, which of the following will they most likely NOT be able to describe?

Options :
1. Separation of fibres from cotton seeds
o Processing of synthetic fibres into different articles

3. Processing of natural fibres into wool

4. Process of rearing silkworms under laboratory conditions

Question Number : 82 Question Id : 36496353674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 36496353675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ms. Shilpa wanted to introduce the concept of 'lateral inversion' through an activity.
Which of the following activities will be MOST suitable for the purpose?

Options :

1. Writing a word on a paper rotating it by 180 degrees.

- Reading a textbook using a mirror.

3. Observing yourself in the mirror

4. Showing the letter A on a mirror.

Question Number : 83 Question Id : 36496353675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 36496353676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes an open-ended question?

Options :

1. Which type of bones is a human wrist made up of?

2. Do all animals have bones?

3 How do different animals move from one place to another?

4 How is a pivot joint different from a hinge joint?

Question Number : 84 Question Id : 36496353676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 36496353677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions is BEST suited to develop deductive reasoning in students?
Options :

1. Why does the diaphragm contract during inhalation?

o, How are spiracles and tracheae comparable to nostrils?

3 Plant is a living organism. Do plants respire?

4. What will happen if food accidentally enters the trachea?

Question Number : 85 Question Id : 36496353677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 36496353678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the MOST appropriate instructional aid for a teacher to INTRODUCE the concept of
sedimentation?

Options:
1 Afilter paper

2. Mixture of oil and water

3. Dropping a stone in a glass of water

4. Aglass of muddy water

Question Number : 86 Question Id : 36496353678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 36496353679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is BEST suited to be taught using a simulation software?

Options :

1. Observing the distance travelled by a ball before coming to a halt on an uneven surface
o [Effect of weighing different objects using a spring balance
3 Effect of pushing chairs with and without rollers

4. Observing the trajectory of a ball projected from a height.

Question Number : 87 Question Id : 36496353679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 36496353680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A''hook' activity is the one which makes use of students' existing knowledge and generates interest. Which of the
following would be the BEST "hook" for Ms.Saloni to use while introducing the topic of photosynthesis?

Options:

1. What will happen if leaves are removed from plants?
> What are the different sources of nutrients for autotrophs and heterotrophs?
3 What are the factors required for photosvnthesis?

4 Have you seen plants that have non-green leaves?

Question Number : 88 Question Id : 36496353680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 36496353681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One of the students in the class said that the soil does not contain any moisture.

Which of the following remedial actions would be BEST suited to clarify this misconception?
Options :

1 Placing a soil sample on a wooden plank.

5 Comparing the weights of a soll sample before and after drying under sunlight.

3, Collecting and examining a soil sample after rain.

4. Mixing water and soil in a beaker followed by drying under sunlight.

Question Number : 89 Question Id : 36496353681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 36496353682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mr. Rakesh has taught the concept of chemical changes in his class. Which one of the following is the BEST example
of an 'authentic task' which he can use to assess students?

Options :

1. Asking students to burn a magnesium ribbon and observe the changes.
o Create a setup to pass gas through lime water.
3. Make a protective solution that prevents rusting of iron.

4. Create a cooling chamber that can maintain low temperatures for chemical changes.

Question Number : 90 Question Id : 36496353682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Id : 36496353683 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No



Question Numbers : (91 to 99)

Question Label : Comprehension

Read the passage given below and answer the questions/complete the statement that follows by choosing the correct
options out of the given ones.

While ice-cream is made, the manufacturers freeze the base quickly, while constantly stirring to prevent large
crystals from forming, Once the ice-cream is made, the next worry is maintaining its quality during storage, ensuring
that the crystals don’t grow and that the creamy texture stays. This is why mass-manufactured ice-creams offen contain
stabilizers and emulsifiers, aside from the basics of milk, cream, sugar and flavourings.

Emulsifiers can come from a natural source such as egg yolk or butter milk, or they can be chemically extracted
too. Whatever the source, these emulsifiers are used to prevent fat globules in the ice-cream from combining and rising
to the top over time. They coat the fat globules and keep the fat and whipped air well-distributed through the ice-cream.

Stabilisers such as guar gum, locust bean gum efc. are often added to increase viscosity and prevent ice crystals
from becoming larger during temperature fluctuations. Most of these gums are derived from plants.

For those who would like fo avoid the stabilisers — ice-cream expert lovers are not fans of the slightly chewy
texture it creates; other consumers worty about what is in a stabiliser — there are premium variants that come without,
though they do have almost double the butterfat content.

For those who would like to avoid the sugar, there are sugar-free-ice-creams too, but they are not as creamy.
Sugar lowers the freezing point of a mixture. In ice-cream, this helps keep parts of the ice-cream in the liquid phase at
freezer temperature, making it easier to scoop and smoother on the tongue.

Some manufacturers replace butterfat with non-dairy fats, either to cut costs or to appeal to vegans. These
products are tagged ‘frozen desserts’, not ice-creams. Coconut milk and cashew cream frozen desserts can be quite
good; those made using cheap refined vegetable oils are typically not.

Sub questions

Question Number : 91 Question Id : 36496353684 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To keep ice-cream soft and creamy
is/are added to it.

1. flavours

2. stabilisers

3. extra cream

4. preservatives

Options :
1.1
2.2
3.3



4.4

Question Number : 92 Question Id : 36496353685 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

is/are not the basic constituent(s) of ice-

cream.

cream
desserts
milk

flavours

i it

i

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496353686 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Emulsifiers are added to keep the ice-cream crystals
small.
(b) Emulsifiers can be vegetarian as well as non-
vegetarian.

(a) is right and (b) is wrong.
(b) is right and (a) is wrong.
Both (a) and (b) are right.

Both (a) and (d) are wrong.

iletud )

e

Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 36496353687 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:

(a) In a good cup of ice-cream, fat and air come to the
surface.

(b) Sometimes, certain gums are added to increase the
density of the ice-cream.

(¢) Expert lovers of ice-cream do not like its chewy
texture.

. (a) is right while (b) and (c) are wrong.
. (b) is right while (a) and (c) are wrong.
. (b) is wrong while (a) and (c) are right.
. (a) is wrong while (b) and (c) are right.

L [d =

o

Options:
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496353688 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the option which is NOT correct from among the
following.

1. Sugar free ice-creams are not as tasty as sugar ones.

2. Sugar helps the vendors to scoop up the ice-cream
easily.

3. Vegans help the ice-cream manufactures to

sometimes cut costs.
4. Coconut milk and cashew cream are cheap refined

oils.
Options :
1.1
2.2



3.3
4.4

Question Number : 96 Question Id : 36496353689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘while constantly stirring to prevent’
The underlined word is a/an

Noun
Pronoun
Verb
Adjective

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496353690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘ice-creams often contain stabilisers’.....
The word opposite in meaning to the underlined word is

spread
prevent
eliminate
comprise

L O R

>

Options :
1.1
2.2
3.3
4.4



Question Number : 98 Question Id : 36496353691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘For those who would like to avoid the sugar’,
The underlined expression is a/an clause.

Principal
Noun
Adjective
Adverb

i e

-

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496353692 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘that is why ice-creams often contain ....’
The underlined word is a/an

Noun
Pronoun
Adjective
Adverb

i e

-

Options :
1.1
2.2
3.3
4.4

Question Id : 36496353683 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (91 to 99)



Question Label : Comprehension

Read the passage given below and answer the questions/complete the statement that follows by choosing the correct
options out of the given ones.

While ice-cream is made, the manufacturers freeze the base quickly. while constantly stirring to prevent large
crystals from forming. Once the ice-cream is made, the next worry is maintaining its quality during storage, ensuring
that the crystals don’t grow and that the creamy texture stays. This is why mass-manufactured ice-creams offen contain
stabilizers and emulsifiers, aside from the basics of milk, cream, sugar and flavourings.

Emulsifters can come from a natural source such as egg yolk or butter milk, or they can be chemically extracted
too. Whatever the source, these emulsifiers are used to prevent fat globules in the ice-cream from combining and rising
fo the top over time. They coat the fat globules and keep the fat and whipped air well-distributed through the ice-cream.

Stabilisers such as guar gum, locust bean gum etc. are often added to increase viscosity and prevent ice crystals
from becoming larger during temperature fluctuations. Most of these gums are derived from plants.

For those who would like fo avoid the stabilisers — ice-cream expert lovers are not fans of the slightly chewy
fexture it creates; other consumers worry about what is in a stabiliser — there are premium variants that come without,
though they do have almost double the butterfat content.

For those who would like to avoid the sugar, there are sugar-free-ice-creams too, but they are not as creamy.
Sugar lowers the freezing point of a mixture, In ice-cream, this helps keep parts of the ice-cream in the liquid phase at
freezer temperature, making it easiet to scoop and smoother on the tongue.

Some manufacturers replace butterfat with non-dairy fats, either to cut costs or to appeal to vegans. These
products are tagged ‘frozen desserts’, not ice-creams. Coconut milk and cashew cream frozen desserts can be quite
good; those made using cheap refined vegetable otls are typically not.

Sub questions

Question Number : 91 Question Id : 36496353684 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To keep ice-cream soft and creamy
is/are added to it.
1. flavours
stabilisers
extra cream
preservatives

s 1

e

Options :
1.1
2.2
3.3
4.4



Question Number : 92 Question Id : 36496353685 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

is/are not the basic constituent(s) of ice-

cream.

cream
desserts

milk
flavours

o bl o

g

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 36496353686 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Emulsifiers are added to keep the ice-cream crystals
small.
(b) Emulsifiers can be vegetarian as well as non-
vegetarian.

. (a) is right and (b) is wrong.
. (b) is right and (a) is wrong.
Both (a) and (b) are right.

Both (a) and (d) are wrong.

L ba —

o

Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 36496353687 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:

(a) In a good cup of ice-cream, fat and air come to the
surface.

(b) Sometimes, certain gums are added to increase the
density of the ice-cream.

(c) Expert lovers of ice-cream do not like its chewy
texture.

(a) is right while (b) and (¢) are wrong.
(b) is right while (a) and (c) are wrong.
(b) is wrong while (a) and (c) are right.
(a) is wrong while (b) and (c) are right.

W -

i

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 36496353688 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the option which is NOT correct from among the
following.

1. Sugar free ice-creams are not as tasty as sugar ones.

2. Sugar helps the vendors to scoop up the ice-cream
easily.

3. Vegans help the ice-cream manufactures to
sometimes cut costs.

4. Coconut milk and cashew cream are cheap refined

oils.
Options:
1.1
2.2

3.3



4.4

Question Number : 96 Question Id : 36496353689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘while constantly stirring to prevent’
The underlined word is a/an

Noun
Pronoun
Verb
Adjective

k] e

-

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 36496353690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘ice-creams often contain stabilisers’.....
The word opposite in meaning to the underlined word is

spread
prevent
eliminate
comprise

L bd =

ad

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 36496353691 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘For those who would like to avoid the sugar’,
The underlined expression is a/an clause.

Principal
Noun
Adjective
Adverb

sl et

i

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 36496353692 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘that is why ice-creams often contain ....’
The underlined word is a/an

Noun
Pronoun
Adjective
Adverb

sl et

i

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3649633101

Question Shuffling Allowed : Yes

Question Id : 36496353693 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the stanzas given below and answer the questions/complete the
statements then follow by choosing the correct options out of the given
ones.

Three year she grew in sun and shower,
Then Nature said. A lovelier flower
On earth was never sown:

This child I to myself will take:

She shall be mine, and I will make

A lady of my own.

Myself will to my darling be

Both law and impulse: and with me

The girl, in rock and plain,

In earth and heaven, in glade and bower,
Shall feel on overseeing power

To kindle or restrain.

Sub questions

Question Number : 100 Question Id : 36496353694 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What/who is ‘T’ in these lines?

Father
Mother
The poet
Nature

e v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 36496353695 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
What did I’ plan to do?

to teach her

to groom her

to play with her
to feed her

e v

s

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496353696 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘T’ liked the child because:

she was his/her own child.
she was lovely like a flower.
there was no one else for her.
she was born to nature.

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496353697 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Where all will she be taken to?

hills and plains
lawns and woods
lakes and sea
only 1 and 2

s vl

e



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496353698 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*‘Then Nature said ...... ?
The figure of speech used in this expression is :

Simile
Metaphor
Personification
Metonymy

] e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496353699 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘To kindle or restrain.”
The underlined word means the same as:

to awaken
to move

to discipline
to develop

i e

-

Options :
1.1
2.2



3.3
4.4

Question Id : 36496353693 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the stanzas given below and answer the questions/complete the
statements then follow by choosing the correct options out of the given
ones.

Three year she grew in sun and shower,
Then Nature said. A lovelier flower
On earth was never sown:

This child I to myself will take:

She shall be mine, and I will make

A lady of my own.

Myself will to my darling be

Both law and impulse: and with me

The girl, in rock and plain,

In earth and heaven, in glade and bower,
Shall feel on overseeing power

To kindle or restrain.

Sub questions

Question Number : 100 Question Id : 36496353694 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What/who is ‘I" in theze lines?

Father
Mother
The poet
Nature

s vl

e

Options :
1.1
2.2
3.3



4.4

Question Number : 101 Question Id : 36496353695 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What did *I" plan to do?

to teach her

to groom her

to play with her
to feed her

el

e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 36496353696 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘T’ liked the child because:

she was his/her own child.
she was lovely like a flower.
there was no one else for her.
she was born to nature.

W -

P

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 36496353697 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Where all will she be taken to?

hills and plains
lawns and woods
lakes and sea
only 1 and 2

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 36496353698 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*Then Nature said ...... %
The figure of speech used in this expression is :

Simile
Metaphor
Personification
Metonymy

i e

-

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 36496353699 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘To kindle or restrain.”
The underlined word means the same as:

to awaken
to move

to discipline
to develop

i e

P

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649633102

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 36496353700 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aregional dialect is

Speech characteristics of a language in a region.
Language of a state or country.

Language with a script of a region.

The written language and literature of a region.

P g

e

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 36496353700 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A regional dialect is

Speech characteristics of a language in a region.
Language of a state or country.

Language with a script of a region.

The written language and literature of a region.

s vl

e

Options :
1.1
2.2
3.3

4.4

Question Number : 107 Question Id : 36496353701 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of Sign Language?

There is only one Sign Language in the world.
Sign Language is not a natural language.

Sign Language is a natural language.

Sign language is a set of gestures

P g

e

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 36496353701 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of Sign Language?

1. There is only one Sign Language in the world.
2. Sign Language is not a natural language.

3. Sign Language is a natural language.

4. Sign language is a set of gestures



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496353702 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of second language learning with reference to first language?

I. Second language is interferences in the learning of the first language.
2. First language supports the learning of second language.

3. First language interferes in the learning of second language.

. It is not possible to learn many languages at a time.

o

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 36496353702 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is true of second language learning with reference to first language?

I. Second language is interferences in the learning of the first language.
2. First language supports the learning of second language.

3. First language interferes in the learning of second language.

. It is not possible to learn many languages at a time.

B

Options :
1.1
2.2
3.3



4.4

Question Number : 109 Question Id : 36496353703 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

India’s language-in-education policy is known as

Language-in-education policy

Mother tongue as a medium of education
First language. second language and English
Three language formula

o bad e

o

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 36496353703 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

India’s language-in-education policy is known as

Language-in-education policy

Mother tongue as a medium of education
First language, second language and English
Three language formula

ialecbud e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496353704 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Competency based language teaching aims at

. developing the ability to use language in a defined context like education, work, personal or professional
development.

2. developing the ability of the learner to listen, speak, read and write in the classroom.

3. defining abilities of learners while the curriculum is being implemented.

4. making learners to learn as many languages as possible,

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 36496353704 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Competency based language teaching aims at

I developing the ability to use language in a defined context like education, work, personal or professional
development.

2. developing the ability of the leamer to listen, speak, read and write in the classroom.

3. defining abilities of learners while the curriculum is being implemented.

4. making learners to learn as many languages as possible.

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496353705 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Embedding the pedagogy into the materials to enable the teacher adopt the pedagogy’ is known as

authentic materials and realization of materials.
content validity of the materials.

. pedagogical realization of materials.

. process validity realization of materials.

o b —

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 36496353705 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Embedding the pedagogy into the materials to enable the teacher adopt the pedagogy” is known as

authentic materials and realization of materials.
content validity of the materials.

. pedagogical realization of materials.

. process validity realization of materials.

oo 1 —

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496353706 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the major aim of teaching of poetry?
1. Poetry is for enjoyment and ideas.

Poetry is for gramumar learning.

Poetry is to know about the poet.

4. Poetry is for vocabulary learning.

w1

Options:



1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 36496353706 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the major aim of teaching of poetry?
1. Poetry is for enjoyment and ideas.
Poetry is for grammar learning.
Poetry is to know about the poet.
Poetry is for vocabulary learning.

w1

.

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 36496353707 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher of class VIIT asks her learners fo listen to the five sentences she reads out and write them down the exact
sentences. Which strategy of listening she attempts to promote?

. Top down strategy
2. Dictation as a strategy
3. Apt listening strategy
4. Bottom up strategy

Options :
1.1
2.2
3.3
4.4



Question Number : 113 Question Id : 36496353707 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher of class VIIT asks her learners fo listen to the five sentences she reads out and write them down the exact
senences. Which strategy of listening she attempts to promote?

. Top down strategy
2. Dictation as a strategy
3. Apt listening strategy
4. Bottom up strategy

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496353708 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher writes words and short sentences as language chunks in context as unanalyzed wholes. She then gives the
chunks 1n context for use by learners. What method or approach of teaching of vocabulary does this reflect?

. Vocabulary as chunks

2. Lexical approach

3. Communicative approach
4. Structural approach

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 36496353708 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A teacher writes words and short sentences as language chunks in context as unanalyzed wholes. She then gives the
chunks in context for use by learners. What method or approach of teaching of vocabulary does this reflect?

1. Vocabulary as chunks

2. Lexical approach

3. Communicative approach
4. Structural approach

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496353709 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cognitively Academic Language Proficiency refers to

using language for general day-to-day language functions
using language for a conversation in a birthday party

language use for abstract ideas and higher order language skills
reading a short story of interest as a pastime routine

il e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 36496353709 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Cognitively Academic Language Proficiency refers to

using language for general day-to-day language functions
using language for a conversation in a birthday party

language use for abstract ideas and higher order language skills
reading a short story of interest as a pastime routine

W -

e

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496353710 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a task for process approach to writing and which one is for product approach?

(a) Look around the room you are in now. With your friends observe, gather information-objects, people, and
actions. Jot down ideas, points, develop an outline, write the draft, edit it and write the final draft. Give a fitle fo
your paragraph.

(b) Write a paragraph 0f 200 words on ‘Autobiography of the Snake’.

1. Both (a) and (b) are process approach tasks.
2. Both (a) and (b) are product approach tasks.
3. (b) s process approach task and (a) is product approach task.
4. (a) Is process approach task and (b) is product approach task.

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 36496353710 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a task for process approach to writing and which one is for product approach?

(a) Look around the room you are in now. With your friends observe, gather information-objects, people, and
actions. Jot down ideas, points, develop an outline, write the draft, edit it and write the final draft. Give a title fo
your paragraph.

(b) Write a paragraph of 200 words on ‘Autobiography of the Snake’.

1. Both (a) and (b) are process approach tasks.
2. Both (a) and (b) are product approach tasks.
3. (b) is process approach task and (a) is product approach task.
4. (a) is process approach task and (b) is product approach task.
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496353711 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language awareness 1n learners refers to

grammatical knowledge of the language user.

an enhanced consciousness and sensitivity to the forms and functions of language.
an understanding of the four skills of a language.

an enhanced consciousness and sensitivity to reading and writing in a language.

et e

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 36496353711 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Language awareness in learners refers to

grammatical knowledge of the language user.

an enhanced consciousness and sensitivity to the forms and functions of language.
an understanding of the four skills of a language.

an enhanced consciousness and sensitivity to reading and writing in a language.

b i o

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496353712 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a concept of language education

Grammar translation method
Types of networking
Contfrastive analysis

Form and function

P g

e

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 36496353712 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a concept of language education

Grammar translation method
Types of networking
Contfrastive analysis

Form and function

P g

e



Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496353713 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Portfolio assessment aims at

collection of instances of learning by learners over a period of time as evidences.
collection of the marks or grades by learners over a period of time as evidences.
conducting written and oral tests in order to judge learners’ language learning.
creating a profile of each learner through a progress report card.

N

o

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 36496353713 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Portfolio assessment alms at

collection of instances of learning by learners over a period of time as evidences.
collection of the marks or grades by learners over a period of time as evidences.
conducting written and oral tests in order to judge learners’ language learning.
creating a profile of each learner through a progress report card.

L rd

-

Options :
1.1
2.2
3.3



4.4

Question Number : 120 Question Id : 36496353714 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 recomumends the study of a foreign language

as an additional option at the secondary stage

as an option under the three language formula

as a language from the preparatory stage of schooling
as a choice of the schools and learners

LAEED e

R

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 36496353714 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 recomumends the study of a foreign language

as an additional option at the secondary stage

as an option under the three language formula

as a language from the preparatory stage of schooling
as a choice of the schools and learners

LAEED e

R

Options :
1.1
2.2
3.3
4.4

Language II



SectionId: 3649631709

Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 3649633103
Question Shuffling Allowed : Yes

Question Id : 36496353715 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 36496353716 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ST 3 4 T Tie s e TE E —
3. T

w2

4. SO

Options :

—

-3

1.1
2.2
3.3
4.4



Question Number : 122 Question Id : 36496353717 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T et 35 i o e o A 2
|. A F U FaT T

. &t S uRE

3. AR F U=

4. HfeT T = Afaar |

Options:

[-J

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496353718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
oot femer g A E
|. O T AR
.t i zET
3. OTeET 1 gERT
4. T AT AH

Options:

I-J

1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496353719 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
T ST AT § —

1. et 3T T[0T AT

2. FeIT ST ST FAT

3. TR T STAT

- e
4. HITAT T HATRR, deA1

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496353720 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
AR F fEmaT E

|. T AR FTEAT
. IR % SATEY B T
3. gf=aT &1 FHAET BT
4. AT I TS AT

Options :

[

1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496353721 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



FTET T T FTFEE —
Ot =T 9= =T
3. eIl o ST BT

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496353722 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T E T e § —

1. 94

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496353723 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Fomel FT IS e
1. Ia19

3. FOEH
4. IAETH
Options :
1.1
2.2
3.3
4.4

Question Id : 36496353715 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 36496353716 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TN T J&T T TTeraT ShT TreTeaT T8t & —

=™

3. TohiA

w3

4. TEE

Options :

—

[

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 36496353717 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fer gt 35wt 1 g e B
|. AR F T FATE

. O atER o

3. A F A=A H

4. e Fr = qraar @

Options :

[

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 36496353718 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
g forET & A E —

|. O T A
. ufwa T T
3. gfeT a1 g
4. TeATFIAE

Options :

I-J

1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 36496353719 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TOT ST H ST E —

1. FEAT O FA

2. eI T ST FAT

3. TS T A

4, w?auﬁ?ﬂ%:mm

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 36496353720 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Tger Fi faemar 2 —
|. T SRR F e
. TRET 3 TR B S
3. UfHaT & FHIAT EAT
4. TPTTAT T IITST T ST

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 36496353721 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TIER Tl TETT T R & —

. UteEt = die T BT

3. FAl § AT BT

-3

Options:
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 36496353722 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 36496353723 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e o FEET eE B

. 9drd

%

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 3649633104

Question Shuffling Allowed : Yes

Question Id : 36496353724 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 36496353725 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
1. TRV 25 | TR

FRTHT 250 BT TH

3. TOTHRT 100 e 9T

4. ST 1250 | T

-3

Options:
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496353726 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



IR F =T T ST B

1.4

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496353727 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HATS® IT62 T TATT Torerss forw feram am 22
3. FEm N F fom

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496353728 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ITER F TAR IO T ITHT R —
|. TTET 3T ST, 7E O T

3. AT T ST, Bl o AT

4, Wﬂm AT T ST

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496353729 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FE FARTFTE —
. g
2. LT
3. g
4. HEATER
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496353730 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T FATS T =TTHT B T AT 3 AT 2 IeE
e e —
1. T
HATHH
3. BN
AT

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496353731 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TG!S W AT E
|. Trea T
3T IO T
3. gE g9l
4. F AN A

[

Options :
1.1
2.2
3.3
4.4

Question Id : 36496353724 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 36496353725 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
. RTHRT 25 W T

FRTHT 250 | T

3. oTEI lOOWETFT

4, eI 1250 F’FFT\'H'

[

Options:
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 36496353726 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



IR F =T T ST B

1.4

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 36496353727 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

HATS® IT62 T TATT Torerss forw feram am 22
3. FEm N F fom

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 36496353728 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ITER F TAR IO T ITHT R —
|. TTET 3T ST, 7E O T

3. AT T ST, Bl o AT

4, Wﬂm AT T ST

I3

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 36496353729 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FE FARTFTE —
. g
2. LT
3. g
4. HEATER
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 36496353730 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T FATS T =TTHT B T AT 3 AT 2 IeE
e e —
1. T
HATHH
3. BN
AT

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 36496353731 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TG!S W AT E
|. Trea T
3T IO T
3. gE g9l
4. F AN A

[

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 3649633105

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 36496353732 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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I3

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 36496353732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS AT ST B
. ST ST T T I H I
. & TR g i T "ie e
3. &1 1 feafeas Wi vd |ifEey i fasyar
4. TS % ¥{aE TR STYET FHE I ATF Hl SRwar,

[-J

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496353733 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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|. Hehd HTNT STHTIER 9T 2|
2. TR WTST =T AT BT 2
3. TERa WTHT 3T SATS0T 781 24T
4. Hehd |1 ok fafa= =9 2

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 36496353733 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
fTAfeAfEs o & F9-91 Hehd 99T & o1 5 21 781 27
|. HeRd WTST SETHTIER 97T 2|
2. TR WTST 2T ST BT 2
3. HEd WTHT 3T TS0 781 24T
4. TEHA WIET 3 Tare= =9 2|

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496353734 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. 3fgam

et

3. TEETEE

4. &

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 36496353734 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

frafefEa o o Fe-t o 9T T8 22
1. 3fga

. AT

3. HAITH

4. =&

Options :

[

1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 36496353735 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 36496353735 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST Ao T O S 6 v B a7 v o et e Y - A 21 e o
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i
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Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 36496353736 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

f=fertas o & s 9T fereqor ot ergamon 5 9 98 22
|, =Ty e

. ITST ST

3. THereT Sum

4. gEUISOl

=

I3

Options:
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 36496353736 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

fraferfgs o & - wroT freqor & srgemon 5 F 181 22
1. srerrey faer

YT ST e

. Taer su=R

-

3
4. JBYEoT

o
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Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496353737 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



HTTSTS 2
. Heae SR gt
3. T R A=
4, HTET ThHT

Options :

[-J

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 36496353737 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS 2|
j 3 H%d—i 3ﬁ1‘ @r::i:rﬁn

3. TS HR AT
4. HTET TRA0T
Options :

[

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496353738 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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I3

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 36496353738 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T TreqT 1T 2020 WA FT AT FATE F —
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496353739 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 36496353739 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 36496353740 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3

4.4

Question Number : 144 Question Id : 36496353740 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3

4.4

Question Number : 145 Question Id : 36496353741 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 145 Question Id : 36496353741 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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[

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 36496353742 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

e % fem 2
|, ST A

. ¥Teg WER

3. AT = AW T FA

4. THEFUE qF o

[

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 36496353746 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e % fem 2
|, ST EiEH
2. Ie% HER
3. MG o ST TEAT A
4. SEAUE TH

Options:
1.1
2.2
3.3

4.4



